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Rovo said; if they see the warner, or the warner, etc.

OVERVIEW
X127 ruled that if the 27V see the 77n»n they are 77vx» There is a dispute whether
X217 1s referencing our 71w or the (Just cited) Xn>72.

- 1Y SNV 1IN 591 2INPT XOYD 23 PIINNI NONT WI91N 19159 1NN
The wasn (i.e. the 2°w19n W in X177 7"7 '010) brings proof from this statement of
X217 (that if they see the 7701 or the 7701 sees them they are 77vXN), regarding the

X290 of our ;mw» which states,” these are considered as two separate NY37¥, if they

did not see each other - , ,
= “5PWI97 NANNN PPN 1Y 1990 DIPNI Yond

That nevertheless even though it is Yo& NX 9K PRI NLPn PR, the mwn is

discussing a case [even] if the 0’7V see the 70, as I explained, but if the o>7v and
the 77n» did not see each other they are no nm7v at all.

mooin disagrees with the w1on
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And the fact is not so! For here X217 is referencing the Xn%93 of n7ryn M7y —
- 9RNRP N9 POIVEN PRY 919 AT PINNI TN 2N

Where the &n>12 teaches if there was one 79 from this window, etc. (and another
7y from a second window) that they ae not combined (if they do not see each

other), so X217 said regarding this Xn>"2 -
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That if the 7v from this window [and the 7¥ from the other window] see the

707 or the 71907 sees them -
= INDNIVY TYNI ININIVY TN 22X HHNX MTY nyaYy 1299081

They are combined to be one 7Y regarding the 7¥ from here and the 7¥ from

there -
- 19981 NINNNTITN NX 1IN PRI PRY 99 Yy 9N

Even though the two 27V do not see each other nevertheless they are one M7y
(to convict, etc.) for the 79n» combines them -

" The n"21 N3 amends this to read 7°X7 D11 W7 N (instead of 7°81 w1517 *nn).
2 The n"37 M7 amends this to read 17w 5"YR *7» (instead of 7w n).
3 X1 7"7 'ona. The 0w on w° assume that s'X27 statement is referring to the [%5°0 of our] f1wn. Therefore X231 rules
that the 0°7y are considered to be two 2>7¥ °n3, only if they or the 77nn see each other, however if they do not see
each other, they are not 0*7v at all ([not (even) 0*7v °n> 2] because according to the »"> the 77n» must be part of the
m7y). The same applies to the Xw™1 of the miwn (where the two 0*7v °nd see each other) that they are n7v¥» to each
other only if they also see the 77nn, for there can be no 21 unless the 77nn is part of the a>7y. See TIE there
footnote # 2. See (here) footnote # 8.
* The w"w" amends this to read 7n»T7 a7 DR 31 7RI (instead of 77NHAT 12X DR 12X PRI).
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Just as in the case of YR PR R PRIN PR in the XW™ of our TR,

mooINn proves that X217 is not referencing (the X9°0 of) our mwn:
= INP PHINNN INT INP RNI2T NTNIND MTYRT Y15

And you can know that X217 is referencing the 8n>92 of n7m% ny7v (but not the
mwn), for if he is referencing (the X5°0 of) our Jawn -

- [RWTa VLY SNV 1IN 90 2N
Where it teaches that if it is not 128 DX 9K PRI JN¥Pn it is two nv7y, like 1

explained - .
$UINN S99 1NTY POIVEN PPN INY BN 9991 159 7N )5 BN

If indeed that is so, X271 should have concluded and if not (if the two 2°7v do not
see the 77nn) they do not combine to be one N2, since this is the main novelty of
X29.

SUMMARY

X127 is referencing our 7Iwn according to the w7dn (the o7y and the 77nn must
always see each other), however according to n19oIn (that seeing the 7701 is the
equivalent of the 0°7v seeing each other), X27 is referencing the &n>"2.

THINKING IT OVER

Why cannot M501n (not the w15n) learn that &27 is referencing the X5°0 of our 71w~
(and not necessarily the Xn>72) and saying that if the two 0>7v °n3> see the 77nn,
they are 7b¥n, even though they do not see each other?!’

> According to Mmoo the combination of 277y (whether two and two or one and one) can be accomplished either by
19X DR 198 7°K17 (JnXpn) or by the o7y and the 7701 seeing (or being seen by) the other.
% See 1 nIX "7 M (who interprets this differently) that 827 is referencing the X2 of the mwn according to the w
ow1an. The question of MvOIN is that X217 should have said if they do not see the 77n» they are not combined. See
footnote # 8.
7 See footnote # 3.
8 According to the o°w1on w° that 827 is referencing the &9°0 of the mawn (where 128 NX 2R PRIV P°X) that 100%7 PR
and they are considered 0*7¥ °n> '3, and X217 qualifies this that it is only if they see the 770 (that they are considered
2>7v ['n> 1]), he should have completed his statement that if they do not see the 7i7nn there is no M7y at all. The fact
that if they see the 77nn they are two M7y °nd is stated in the 71wn (according to the o°w1on w°); the w17°n of X217 is if
they do not see the 71n» there is no M7y at all, and he does not mention his ¥17°11 7p°y. However according to msoin
that %27 is referencing the Xn»"2 (which states that if the two 2>7v do not see each other they are not 77v¥»), it is
understood the w171 of X171 that if the see the 77nn they are 770¥n (even though they do not see each other).
? See 71 MR A"a7 M.
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